BT TRIA O - HEHHEE X T EFﬁJiﬁfﬁwﬁ KIRHE
- I:I - 3 I:I
X 73,437 159,260 76,031 83,229 | ZHFILUETAT 739 1,862 876 986
E 4617 9,957 4,601 5,356
BEKET1T 867 1,861 903 958 |ER EEFZHT2T 1,428 3,303 1,574 1,729
BEKET2T 335 803 380 423 5 1,428 3,303 1,574 1,729
£ 1,202 2,664 1,283 1,381 |H=E~sEBT1T 70 200 88 112
< FE] BT 8,704 21,104 10,050 11,054 |EHE=E4~ER2T 271 546 261 285
Lt RER1T 352 552 281 21 |R=ZE~ERI3T 445 1,006 482 524
Tt RERT2T 237 435 208 227 |R=E~ ERT4T 205 402 184 218
Lt RER3T 275 485 256 229 |R=E~ ERI5T 373 670 348 322
Lt RERT4T 161 208 148 150 st 1,364 2,824 1,363 1,461
Lt RERST 140 289 146 143 | KSIRAT1T 762 1,694 801 893
Tt ERERGT 98 228 113 115 | KEZFBT2T 905 1,925 917 1,008
TtERER7T 75 170 79 91 | 1,667 3,619 1,718 1,901
Tt ERERST 129 214 105 109 | RERTT 73 179 79 100
g 1,467 2,671 1,336 1,335 [E RERT2T 147 331 167 164
tfEBET1T 260 540 259 281 BB RERI3T 371 831 367 464
tfEBET2T 1,155 2,579 1,205 1,374 |FARERT4AT 282 492 195 297
tfEBET3T 966 1,844 928 916 B RERST 142 314 146 168
tfEBET4T 911 2,058 1,024 1,034 | 1,015 2,147 954 1,193
g 3,292 7,021 3,416 3,605 |F{t AT 2,166 4,921 2,417 2,504
ERATET1T 632 1,565 782 783 | = AHT 254 462 229 233
ERATET2T 352 850 405 445 |BEEERMET1T 252 495 231 264
ERATETST 357 824 386 438 |BEE ERMET2T 496 993 485 508
g 1,341 3,239 1,573 1,666 (B E S FRMATST 708 1,532 727 805
==Yl 1,020 2,189 1,047 1,142 (B EEHRMET4T 633 1,273 638 635
HEWEET 259 504 230 274 |BEEERMEIST 698 1,661 797 864
HERE2T 409 720 321 399 5| 2,787 5,954 2,878 3,076
HEWREIIT 264 473 243 230 |BEEMBILAT1T 227 393 175 218
HEWE4AT 133 289 131 158 (B E BiEitET2T 464 933 453 480
B 1,065 1,986 925 1,061 |BEEBH#EILEIST 518 1,085 527 558
HEREET 1,663 3,225 1,448 1,777 | B#ELET4T 606 1,293 609 684
HEREET2T 2,972 6,348 3,023 3,325 |BEEMBILATST 749 1,731 850 881
HEFETST 3,030 5,935 2,663 3,272 B 2,564 5,435 2,614 2,821
HEFETAT 2,144 4123 1,835 2,288 |EEBHEET1T 1,026 1,971 964 1,007
HEREEIST 1,271 2,709 1,301 1,408 (B EBiBAT2T 150 319 169 150
5| 11,080 22,340 10,270 12,070 |BEE#EEI3T 2,158 4,492 2,185 2,307
HUEET1T 792 2,189 1,067 1,122 B 3,334 6,782 3,318 3,464
HYERT2T 540 1,348 664 684 | BEETZET1T 642 1,400 650 750
g 1,332 3,537 1,731 1,806 |(BEEBHEZET2T 469 995 474 521
MEET 439 977 487 490 | BEETZEI3T 329 773 374 399
EET2T 334 819 393 426 B 1,440 3,168 1,498 1,670
g 773 1,796 880 916 |BEEEARET1TT 648 1,329 654 675
WHAEET1T 727 1,869 890 979 |BEEEARET2T 245 584 287 297
WHEEET2T 202 462 221 241 |BEEEARETST 1,030 2,682 1,309 1,373
RT3 T 714 1,553 780 773 B 1,923 4595 2,250 2,345
g 1,643 3,884 1,891 1,993 (B EEEREET1T 325 730 359 371
RKEIRAT 5573 12,535 6,034 6,501 |BE BMEmET2T 224 472 232 240
hRERTT 278 537 250 287 |BEE EEBET3T 609 1,328 660 668
hRER2T 207 373 166 207 g 1,158 2,530 1,251 1,279
hRERST 225 496 246 250 |\ T4t 98 205 95 110
hRERT4T 279 536 264 272
B 989 1,942 926 1,016
o A BT 597 1,263 616 647
hEEEET1T 581 1,238 584 654
hEEEET2T 795 1,332 630 702
hEEEETST 458 1,144 541 603
hEEEET4T 731 1,450 718 732
hEEEEST 843 1,698 831 867
hEEEET6T 3,286 6,253 2,972 3,281
5t| 6,694 13,115 6,276 6,839
P =T 850 2,072 1,017 1,055
BAFBILETTT 1,062 2,204 1,048 1,156
BXEFILET2T 967 2,232 1,094 1,138
BEAEFILAIST 1,849 3,659 1,583 2,076
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